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QUESTION 1

Which of the following protocols is used by VoIP applications for communication initiation in the network? 

A. TLS 

B. NTP 

C. SIP 

D. SSH 

Correct Answer: C 

 

QUESTION 2

You are a Voice Technologies Administrator and connecting a VoIP network to the PSTN. You are using 

E.164 standard address for your telephone system. 

Which of the following are the components of E.164 numbering plan? Each correct answer represents a part of the
solution. Choose three. 

A. National destination code 

B. IP address 

C. Subscriber number 

D. Country code 

Correct Answer: ACD 

 

QUESTION 3

Which of the following are the advantages of the Diffserv model? Each correct answer represents a complete solution.
Choose two. 

A. Highly efficient tools 

B. Admission control for each request 

C. Large number of service classes 

D. High scalability 

Correct Answer: CD 

 

QUESTION 4
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What is the traditionally defined value for the resulting data rate of Pulse Code Modulation (PCM)? 

A. 64 Kbps 

B. 32 Kbps 

C. 16 Kbps 

D. 128 Kbps 

Correct Answer: A 

 

QUESTION 5

Mike works as a Technician for Umbrella Inc. The company is using symmetric Network Address Translation (NAT) in
their network. Mike requires a workaround for the SIP devices. Mike is using IP phones from multiple vendors, as well
as open source SIP clients. 

Which of the following solutions will work to allow the SIP implementation to pass through the NAT solution? 

A. TURN 

B. UPnP 

C. 802.1p 

D. STUN 

Correct Answer: A 
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